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English SBA 1 Task (Oral assessment - accept either Part A or Part B; accept either
Language 15% individual presentation or group interaction). (Note: The percentage
weighting of Paper 1 to 4 remains unchanged.)
g % - EA IS
(&g 3m 65%
A) = Ea IS
35%
w5 % W) /)‘1"}; 4 g
(2 12 100%
A)
LFRT | RAER |y
20% PARTI: AN -G S S
F-d 50% %5 62%; E=-d 30% %5 38%-
KiRES 5 - Kok (FIREREE)
30%
E- AL |G (R BIMAEE )
26%30%
F 2 BIA |G ored (2 BIRA DGR /R BdpaEdl)
35%40%
o Cva | B (BEBINA G HEAT)
99, At E oI A - AZ BIRA o YA AER o
XFER AR 5 - Ea IS
45%
¥ ¥ - v Hgp
55% . BT B4 ZERASIERHEPEFEY 3iE > R{ATE R FF
HY 2 iER AL o
o TREFd 1AL EEEE PS5 Ao
4 4 Sl N iy
26% AL E AT E - 2 K o
E-d 60% %5 75%; 54 20% %5 25%-
i & = iy
20% ot E oI E- 2 8- o
E-d 60% %5 75%; 54 20% %5 25%-
2 S iy
20% gl E- 2 K- o
E-d 60% %5 75%; 54 20% %5 25%-
R R BES
2 pix 40%
= 7 B RS BT R T BRI SR o i
60% VEEFSRD > FEE AN gt E A




7 $%(36 &)

2 3R(36 A)

B2 e F
dEE 14
£4EE 18

¥R i
R

JANES
el s KA AL E D 40% % F 20% ¥ A R ERAS ] 43mA
N 0, 0
Pt H0%20% | iy A E S EEm o FeE LA (20%) ¢
Flapeng At £ (20%) #EFTAFLREL 12 20
X0 30% %5 40%; 5= d 30% %5 40% o
FRAdp | fREp | B
FH 20% PARTI: AN G- S S S
-4 55% %% 70%; -9 25% %5 30% e
P4 g T A By
30% EAWESFRT E- 2 K- o
X4 30% %% 43%; -0 40% %5 57% e
AL BT LM 1 g1 T+ 2 ity 2 F g
50%
Wy % - El IS
42%
5 = /)‘1"}; (S g
18%
= Xz g3
40% BE-RFMT ARG R PR o Y2 AR b B
THET EBenil 4 0 b RS B 20% 5 M AL KT R kLA e
20% o R ¥ S RE 58 4o T
BT S MrFhded s R REFE R 31 b s d BB LZ 1609

s (EH- )




